Straight ines will intersect only once unless they are parallel
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Finding coordinates on lines

X+Y=20

2X+3Y =12

4X+12=20-4X



Lines

Y = mx +b

m = slope

b =y intercept




Lines

/= mx +b V= 3x+18

m = slope dlope = 3
b =y intercept v intercept = 13




Lines

[ two lines have the same slope, they are parallel

Line 1

eq  y=2k+T y= 2/ + 13

Line 2




Lines

[ two lines have the same slope, they are parallel

Line 1
e y= Uk + 18 y=2/3 + 13 ‘?

y=dox + 18 y=dox + 45




|t the slope two lines are the negative reciprocal, then they are perpendicular

Perpendicular Lines




|t the slope two lines are the negative reciprocal, then they are perpendicular

Perpendicular Lines

y=2/ox+18 y=-o/lx +13




Lines

|t the slope two lines are the negative reciprocal, then they are perpendicular

Perpendicular Lines

eqy=-Tx+18 y=Ix +18

y=2/ox+18 y=-o/lx +13




Lines

|t the slope two lines are the negative reciprocal, then they are perpendicular

Perpendicular Lines

eqy=-Tx+18 y=Ix +18

y=2/ox+18 y=-o/lx +13

y= bx+18 y=-1/bx +18 B



Poin» on a fine

rquation of fine is y = 2x - 27
Point K is on that line
Ihe y-coordinate for point K is 21,

What is the x coordinate for point K/




